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to assure good operating condition, since the faulty operation of an engine is deeply re-
lated to public health.

2. Any symptoms of deviation from normal condition will be a clue to find out the defe-
ctive oeprating units. But guess work must never be done. Check with testers correctly.

3. All engines must be provided with following papers pasitively to insure 1009 efficient
tune-up jobs,

a. The trouble shooting chart

b. The job analysis chart

c. The troubles and tune-up recording cards
d. The scientific test report

4, For the educational purpose, the progressive chart also should be added.

5. To confirm the effiecicny of the trouble shooting chart, 100 ,trainees were tested and
its consequence showed that the trainees trained with the chart were superior to those
trained without the chart, in understanding by 349, in accuracy by 469 and in time
to locate the troubles by 519%. Therefore, the trouble shooting chart is not only reco-

mmended for the effiicient tune-up job, but also for the educational purposes.
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Abstract

It is stated the changing method of trigonometrical functions to Hyperbolic functions, and the result
was expressed on the generaligation table.

Using this table to put in practice in spherical trigono. -solution and used this result to navigational
triangle solution too,

1t is easily solvable the spherical trigono. and navigational triangle-solution if drawing lip a table of p(6)

=log. cot—g- I for the value of 0, and a table of Hyprerbolic fuctions for the value of this result.
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sin L=sin d + sin h+4-cos d « cos k » cos X

—h=a, 90°—d=b, 90°—L=c% 10H9| fk]\zs};ﬂ. V

#(a—b)—#(h d), (a+b) = —p(h+d) 5 FIF 3

h4+d>0 h>d h<d
o IO 1))y E=DLOED o (s |- (12
cosh{ wh—d) _2#(h+d) —-A(L) } /cosh—————ﬂ(h_d) ;#(h_l_d) {(t:grihty(t) = {fgrsxth(z)

d+ L>0 d>L d<L
Sinh{ #(d—L);ﬂ(d+L) ~2 (R } /Sirlh ﬂ(d—L)—IZ—#(d+L) ={€g§h)i(X) - {izi}?ﬂ(z)
| HEDIMHL) ) | fo ALY - (13- (1053

L+h>0 — Lk L<h
snh { ML= =LA g ) / i ML RALD | (et | (e X
cosh | ME=ZsLFR) 5 4y} / p LI HRER) | [0 % = { toei ey

Pl o] RE=aaA Bk fE L Kisel R Kigel Kk 4 Rt BE &

Fpel S 2k ol 3 It FoiAH RA=AWE
EX. 1. Given altitude (k), declination (d), and latitude (L),
and azimuth angle (z),

e $HEES DA GHEE 5= Sl

FosmzA deld A¢ KT+ Yk

to find me-idian: angle (£)

h4-d>0 h>d h<d
log sinh { "(h’d)’zﬁ‘(“d) YA Y . t
0g Cos Z _ [ log cos
_ ) log tanh p(z) ~ llog tanh p(?)
_log sinh u(h d)-lé,u(h-l-d)
og CoS og €os
log tanh p(t) log tanh p(z)
~log cosh #(h—d)-iz-;z(h+d)

— 136 —




18
plh—d)+p(h+d)

ula)= ) o
()= Bh=d) =) T
2
1 | L 6 | aL)
h 4 | h—d=a 7 | pth—d)=u(a)
d 5 | htd=b 8 | plh4d)=pu(b)
9 #(ﬁ)'—' ﬂ(a)z—ﬂ(b)
12 | log ccosh u(a) 13 | log sinh u(a) 10 wla) = pla)-p(b)
2
14 | log cosh{g(8)—-a(L)}] 15 | log sinh{u(B)—2A(L)} 11 | u(g)—2a(L)
16 | log tanh u(A) 17 | log tanh u(B) 20 |z
=12-14 =13—-15 :
18 A 19 B 21 |t

h>d:t=A, z=B, hld :t=B z=4
{log tanh u(A)=1log cosh {u(f)—2(L)}—log cosh u(a)
log tanh #(B)=log sinh {#(B)—a(L)}—log sinh p(a)

6. ¥ W
w7 FRE B e 2
@ e*® = ICOtgl Z u(g) =log. Icot%lql RS B

@09 MEEE p(6) 2 206)9) WhigREaE =3t
@ u(6)9] WhiGmEE FIANA BAKBZATY @k ARe f23tn
@ RZAT HW3t ERS mgilstg e

@) =tog, | cot? | stacdy=tog. | cot1(Z-0)

o PRENC 1 B e
u(®)=log. lcotd 19l 7, = ol ol HY WMREMET (PR FARTZAY o Kx
=fke E1$ AHAA T+ A
2 £ 3 #

@ &HE RE=MAE
® BRBEAR WHEEH
® G.B. Thomas 3 =% Moo= MARAre

- 137 =~




wAgnte] HEEg WA FEHE
2 £ |

. Problem concerning Board of Directors of Jointstock Corporation

Abstract

1t seems true that tho development of captalistic economy has made a great deal of varation in both

the type and substance of Joint-stock corporation.

hI—\I‘ow‘d'ays, the ﬁi'ger standard of captalistic economy and the seperation between ownership and mange-
ment has necessorily required mobility along with nationality on the side of those who run the-bussiness
body. . .‘

On the demand of mobility and efficiency in the present business, Board of Directors has beedme to
occupy on important position inthe organigation of Joint-stock corporation.

However, It is also true that the legal regulation for the system of Board of Directors and its operation
have shown great focus theoretically and practically. So in order to make more efficientoperationkof the
system of Board of Directors, This essay will historically explain the consequnt result that the Board of
Directors should appear, and preventing it from reducing itself incompetent, " the substance of law - ard
more efficient operation Board of Directors are to be discoverd through explaning the problems found
on the exsisting law from the view-point of the legislative theory. v
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